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Please read each of the following instructions carefully before attempting questions.
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1. There are EIGHT questions printed both in English & Hindi.
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2. Candidate has to attempt FIVE questions in all in English or Hindi.
SHITER & A uid e % S S a1 fid & ¥

3. Question No. 1 is compulsory. Out of the remaining SEVEN questions, FOUR
are to be attempted.
¥ wed 1 AEE R 9w O e § § un oyl o 3w At

4. All questions carry equal marks. The number of marks carried by a question/
part is indicated against it.
[t g B A IF | TAE G/ & FrEd siew @ wrm Ry ¥

5. Write answer in legible handwriting. Each part of the question must be
answered in sequence and in the same continuation.
gursH foaemee 4 s o | w9 & Yd% Wi 1 SR s % ¥ e s anfiu

6. Attempts of questions shall be counted in sequential order. Unless struck off,
attempt of a question shall be counted even if attempted partly. Any page or
portion of the page left blank in answer book must be clearly struck off.
YAl & T HTTOMT HHMER 1 S | iR w9 9 Ru e et @ s a9
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7. Re-evaluation/Re-checking of answer book of the candidate is not allowed.
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Note : — (1) Question No. 1 is compulsory. Out of remaining seven questions,

four are to be attempted.

(i) All questions carry equal marks. The number of marks carried by

a question is indicated against it.
e — () W Fem 1 e 31 9 ww v § @ um e 8 sw dfi
@) | 9T & i AW ¥ YOE W/aM & fuifa o wed wma Ru

™ ¥
1. How is objectivity different from value neutrality ? Elucidate the discourse
between objectivity and subjectivity in Sociology. 5,15

o YR aeqfeadl, Yed qeegal @ fa=1 § 2 goreeme 8§ awgfrseal aun fawamiasdr
% o9 foel & we FHifag

2. Critically examine the functionalist views on the institution of family. How

do those help us in understanding family in present times ? 10,10

IRER *1 ¥ & Yeraicqsd faudl @1 mueEaen® gy #ifEe | qdqE 99 8§
59 YHR 98 9fER = g9 § 9eFE § 2

3. “Religious pluralism is the order of present-day societies.” Explain by giving

suitable examples. 10,10

“yiffen SgerETe IS & wES A wefod oHee ¥ Sugsd SS9 HHEE |

4. What does the Weberian phrase ‘the spirit of capitalism’ actually represent ?
How is “Protestant ethics” related to it in European history ? 15,5
JR & IR ySiaR w1 s @ fEw ardfaewa w1 Sy g § 2 09 @
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5. “The growth of cities as Information technology hubs has opened up new

avenues of employment, but has also created new problems.” Substantiate
this statement with examples. 15,5
“gum dEifet 1 % w9 # TR & gafg # wr  qu nnt we fR{e §,
g WY A T g ot B o & ¥ SIl gfed e w1 gfe wifswy

6. Discuss development-induced displacement in the context of tribal uprising
in India. Substantiate your answer with any one detailed illustration from
India. 15,5
9Rd H S faRe & w |, fawm-f farermm w =t ifew) yra @ et
frdl teh fagd e & g 99 W @ g wife)

7. “Revolution brings radical changes.” Explain in the light of Marx’s

theory. 20
“wifqal Hifae uftads ot 1 T @ fagr @ wed #§ v s

8. Discuss the population policies that have played an important rolc in

influencing the population dynamics in India. 20
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